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Date Class,

Operations with Fractions

Module Quiz: B

1. Which of the following is equivalent to

2.3,
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2. Linda’s container of cranberry juice holds

200 milliliters. Harry’s container holds

7

& as much juice. How many milliters of

cranbery juice do the two containers
hold?

A 100
B 175

C 300
D 375

5. What s the reciprocal of z%v

19 8
A5 €
8 19
B -5 ey

6. Dairon needs 20 pieces of string % inch
in length. He cut a 4%—|ncn piece of

string into pieces that are % of aninch

long each. How many more pieces of
string does he need?

A 6 C 13
B 7 D 15
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3. In the number line shown below, which
lettered point represents the quotient

7 1
. =?
of 1% divided by 5

7. James has a piece of construction paper
with an area of 651 inches. Itis 92
inches long_ What s the width of the

2.8¢ 2 piece of construction paper in inches?
—-4-3-2-1 01 2 3 4 A 6 c7
A A cec 3 1
B 63 D o7}
B B DD

. 3
4. Melania walked her dog 2% miles. Cathy | ©o- Alexis divided a 17 pound bag of apples

among her three friends. How many

walked her dog 1% times as far as pounds of apples did each friend receive?
Melania did. How many more miles did A L c 3
Cathy walk her dog? 12 4
13 a7 B 2 b 2
A 55 C 355 3 5

9. What is the GCF of 8 and 24?
A 4 c 12
B 8 D 16

1 19
B ZE D 35





